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Estimate parameters of model in ipp#1
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Estimate parameters of model in ipp#2
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Estimate parameters of model in ipp#2
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Compare ‘r‘= with validation data set 2 tank 1 february
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Compare T, with validation data set 3 tank 1 february
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Compare 'mo with validation data set 3 tank 1 february
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—0.002997Win(t) + 0.001917Wi,(t — 1)
2 2 TFro0(t + 1) = 1.0831100(t) — 0.091981;00(t — 1) 68.8
+3.63173(2) — 5.353T(t — 1)
1 3 Ty(t + 1) = 0.8104T},(t) — 0.0029Wi, (t) 80.04
2 3 Troo(t + 1) = 0.962100(t) + 0.016841109(t — 1) 55.12

—16.1Ty(2) + 14.45T(t — 1)
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